101. Among the following statements which of them is/are found to be wrong?

1.  Ironis highly malleable and ductile.

2. Gold is highly malleable and ductile.

3. Lithium 1s the Lightest metal.

(A) 2and3 (B) 1only
(C) Z2only (D) 1,2and3

Spsangmid sappsetle) T8/ eTeneu HeuDTen gaDm <Etb?
L Emby Cwsedlu garseyb, Gudedlu sblurseyl wrHDSemg LS.

2. smswb dwadlu s s, Quadlu sblurs LTHDEs L 2 GarsLd.
3. dlgdund eanug) i G)Cousrer 2 Gansin

(A) 2 opgd 3 /ﬂﬁ 1 b {Hid

(CYy 2wl (hin D) 1,2 wpmw 3

102. Match the List [ with List IT correctly and select your answer using the codes given below

List I - State List IT — Tourist Centre

(a) Andhrapradesh 1. Ajantha, Ellora
(b Jharkhand 2. Chithana Vasal
(¢) Maharashtra 3. . Chandrapura Birds Sanctuary
()  Tamilnadu 4, Goleonda Fort
Codes :
(a) (b) (c) (d)
(A) 2 4 1 3
(B) 4 3 2 1
o 4 3 1 2
(D) 3 2 4 1
uliquieh I=sn g T1-2 6 Qurmpsd) &Gy Qar@ssuulfearar @dluUiBsmens Q@@ sfwmen
alien @ uag G b6l ()
L ig ey [ — mmblann ulgwea I — sampperggeon
(@) =rsr0 drGsan 1. S12H&T, eresCoomym
(b)  @nnsen 2. &gt 61 GoT 611 TeF G0
(¢)  OETTNGpY T 3. FHATYIMN LMEDE) FraRTTaD
(d) sOpEsIEH 4. CandGanarr Gam e
@!{?l5®636"ﬁ :
(a) (b) (c) (d)
(A) 2 4 1 3
(B) 4 3 2 1
)91’ 4 3 1 2
(D) 3 2 4 1
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103. Match List I with List Il correctly and sclect your answer using codes given below.

List 1 List IL
{a) Roentgen 1. Swimming rule
(b)  Henry Bequrel 2. Nuclear fission
(¢} Ottohaun 3. X-rays
(d) Ampere 4. Radiation

(a) (b) (c) (d)

(A) 1 2 3 4
B) 4 ) 1 2
/65 3 4 2 1
(D) 2 3 1 1
'
vlgws g ulqwe H-o e Qui@sd Spssam_ @ihul@emad Qaran® sflurean edeoL enws
GoipOs6.
Ul gwey | Ul g uisd 11
(a)  greim g 1. Bégd ol
(b). Gepend GhsGasnyd 2. gmdem Gaay
(€ -z GLmammen 3. X-asdlrger
(d) =gl 4. adNuidesn
(a) (b) (c) (d)
(A) 1 2 3 4
(B) 4 3 1 2
(C) 3 4 2 1
(D) 2 3 4 1
v 29 VENI

[Turn over



104. Which one of the following is correctly matched?

(A) Troposphere (iy  ions are found

{B) Stratosphere (i) conducive for airplanes to fly

(C) Mesosphere (111} weather patterns

(D) Thermosphere (iv) protects the earth from falling meteors

&1p Ganhssuul Lameasello ety eflwns Qurgnndujareng ?

(A)  CCumuGuimeuiSluem 1) wailsdr o drearen
ﬁ' au_rGL_menRua (1) eSlwnerbisem Causoms LDUUSDHE DD
FT&HS DT GphHlene
(Cy  flGevneuGun (i1} euneflenay Blapays
(D) QarinnaiShuon (iv)  yseSlesw el et ammailedlapma) Lrg|snLg

105. Assertion (A) @ Lightning flashis scen first and thunder sound is heard next.
Reason (R) : Light travels million times faster than sound.
(A)  Both (A) and (R) are true and (R) is the correct explanation of (A)
(B} Both (A) and(R) are true and (R) 1s not the correct explanation of (A)
(C) © {A) 1s true but (R) 1s falsc
(D) {A) is false but {(R) is true
gty (A) o Wbleeman senTamish@ Gailhe WemenGry @Lq_.uglétﬂ Fugh Caldmg).
srgenid (R) @ epefliumeng allepws el Wevabliwen wimE 28lGeusnral uwenmd GFlfng.
W {A) womib (R) M wpmw (R) eremugy (A)-6dliE, sfhwren eflergmin

(B (A wig™ (R) sfl womin (R) eréiig (A)- 6l @ sMwsren eflerdsib e

(€ (A) sl cpemmed (R) g6:5
(D) (A) meumy spenmed (R) il
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106. Select the appropriate pairs of words :
{a) Cutting - Hibiscus
(hy T.ayering — Jasmine
{¢) Grafting - Mango
(d) Yeast— Fragmentation
{e) Comdia — Mucor

/@()‘ {a), (b), {c) - correct (BY (b, (@), (d), () - correct
() {e), (d), (¢) - correct Ty (a), (), (o), (d) - correct

(A)  (a), (b), (c) - & (B) (bl (¢}, (d), (e) —
(CY (e, (d), (&) — &l (D) (a), (), (e}, (d) — adl

107. The electrical appliances of our home are all connected ina circuit.

Ag)r parallel (B) series

(C) either parallel or series (D) parallel and series alternatively

- 5 & T o e e e e ™ TENELR | LTBG o SRTEEE Y v B T 2
(> I WL T - A T AN R ot P W M AP A SHERET ARSI Bravay ekl mer wilas mlenemriienid bl susmrpin ?

(A) '-,, G L TR

B) Ggrfluns .

0, e [ 2 . T o - e -
(C) Revaswralzann s Gsmn_feramiunsiaan
(D) gdnm Blanamursaih i@ mirsnm Qamfenesiianseayn
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108. Every Bank has to keep certain minimum cash balance with R.B.1. is called

(A) Variable Reserve Ratio :
/8) Cash Reserve Ratio

(C) Cash Discount Ratio

(D)  Trade Discount Ratio

@ndw faren eumdullLn geubleun euidlyb e @HNOEI L dgrasamu Cyras E)@UIuns aeulig)

grevimy Gl
(A)  wimu@b smiy aldsid
(B) Grprss sroy e0dsn

(C) Qyréss senenuy e94s0

(D) efwrurrs sergpLig eSldsn

109. The Duty levied while transporting goods from state to state |

(A)  Export duty J(B)/ Octrol duty
(C) Customs duty (D) Import duty

Gty _asem wmbleo sHledlmng) wmblond Garer(® Gadeyid Gurg eugallasluiin eu

(A)  eppwdl el (B) marmenp eufl
(C) . mmis e D) @néwwd eufl

110. In Tamilnadu the centre for Stem Cell Research 1s located at

(A) Chennai (B) Coimbatore
)9) Vellore ()  Madurai

SUIPHTL 16 avlli_b Gad gurmisd Higeueand DieobgeTer @D erg;?
() Glosmena (B)  Gamubysgnm
(C)  Geugnrii (D) gy
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111. Consider the {ollowing statements :
Assertion The term “Lemuria” was first used by slater
Reason A submerged continent (Lemuria) where Tamils survived in pre-historic age
Now select vour answer according to the codes below :
{A) DBoth {A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (1) are true but (R) 1s not the correct explanation of (A)
(C)  (A)is true but (R) is lalse
(DY (A) is false but (R) is true

Eipds@r.. cunsdluniranerd seuafl&aeb :

Fal) : Qaeplum eremm eunidengemu (pgadlar 2 LCwirdlgseun evGal_Lim
snpawrn UTRTDNEE (phHesu g sdliphadr gablamarseiul L sarigdla (GQoapiiur)
QUITLRE S e T

aflwimen eflen_snwig CarmldsHaeyn.

(A spm ebmub sigard &l saprysheren &rpean ipb aifl
(3)  gamm wHmb srrard #fl. gabnGsTen &I Se )
(C)  sapm afl - &rremTd Haumy

(D)  smpm gaim — snjend sl

112. Which one of the following is correctly matched?
Officers of Village Administration in Epic Age called
(a) Dasagrami 1! 100 Villages
(b) Vimsatipa 10 Villages
(c) Satagrami 20 Villages
{d)  Adhipau 1000 Villages

w1

(A) 3 4 1 2
/Bf 2 3 1 4
(C) 1 3 2 1
(D) 4 1 2 3

EDCaT(Hee_HerereunnieT erg sflwne Qummbgidlng ?

sreilw srasdle fyrw flreuns odlardaed Spsaemsurn o@psalnl LTTser

(a) sadlymd 1 100 £lyripruger
(b) ellibadiun 2. 10 Slynwmigar
()  ssapmdl 3. 20 dlgrwiager
(d)  =gludl 4. 1000 &ymomigser
(a) (b) (© (d)
(A) 3 4 1 2
(B) 2 3 1 4
() 1 3 2 4
(D) 4 1 2 3
U 33 VENI
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113,

114.

115.

“Inam Ennum Eemap Punayaich Suduvathu — IKchu”?

(A) Sinam (3) Dhanam
(Cy Pakai (D) Nalal
“Elemid eTengniD oL |EnananuUE sheugl — erg)?

}\) Havrd (B) sanbd
(C)  uems M) raos

Who 1s the first grammanrian in Sanskrit language?

(A) Vaalmeeki (B) Vivaasar
(C) Thandi )D'f Paanint
suLQwmfl Elassent < AfiumaEner (pgemauman men el winT?

(A)  eumeuibdl (B)  &Swnarm
(©)  saimy (D) wreniles

Classify the ‘Ettuthokai, Noolkal in number as Akam, Puram and Akapuram

(A 3:3:2 ﬁ’) 5:2:1
(€C)y 6:1:1 D) 4:4:0

T (h& Aarens mraseahian eravrasllGanseani s, LD, SEUUDLD eTan aullanaiu[Biéss.

(A) 3:3:2 (By 5:2:1

(G 6:1:1 D)y 4:4:0
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116. Choose the correct ones :

The traditional Thanjavur Doll automatically rights itself even after it is pushed and tilted
around

(1) Tt has a very low center of gravity
(2) It has a rounded base

(3) It has high center of gravity

(4) [t has atlat base

(AY DBoth 1 and 2 are correct (B) Both 2 and 4 are correct

(C) Both 3 and 4 are correct (D) Both 1 and 2 are false

sfwnen eflam_eow Caipls

gEpanaLT senewn_y Gumbepweni gatallermab smUSETEID Se Uenpw Flenavenwl en L $ling)
(1) =iger LafuwiTiy enwib Fmpha Blenaule o_drers)

(2) Sy UNED 2 (ham e TEig)

(3) e yelluSmi enwnb 2GS Hlepeulicy 2_cmeng)

(1)  os6a BIgUTHD LD LITEIS)

/K() (1) vpow (2) &f (B (2) whmn (4) &l
(C)  (3) womd (4) &l (DY (1) wHmb (2) geum

117. Which onc of the following statement is incorrect regarding nuclear fission?
(A) It is achain-reaction
(B) Performed under controlled conditions

}ZS It takes place at a very high temperature

()Y Neutrons are emitted during the reaction

ECGip Gar(pasiulL eursdlumiseien e7g) igmisam Uerly updl §.u D16 Sasumne SnHSng?
(A @la e akdld Qgr_relienen
(B) @soa s QUUESE Blapssamd
(C)  Gg bs sfawrar GeuliuBemaudida pLadng
(D) @eualanan peo_GumibdGurg Hluy gransdr Gleuelleliuubid, g
v 35 VENI
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118,

Which is the correct statement?

I. Rainfall varies from place to place and time to time. It 1s thus the season occur.
II.  Temperature varies from place to place and time to time. It 1s thus the season oceur.

III.  Climate vavies from place to place and time to ttme. [t ts thus the season occur.

(A) T only (B) Tlonly

@ 111 only (D) TandIlonly

119,

aflumen eflent s Carm@sH
I wen LeSiudle el apupeugio @Gr wrdfurs Gaeroes QL sdbe @)D, srwssng Sren
CeumuBeug g smyenmin Lheu srnigan GErenmeus) 2, @L0.

[ Candudloee yeiinile oyem B apapaignd Gr wndilurs Gaoomnod G sdng @b, srasdne

&meuLd CaumiLI(hien 50 (& SIIERTD LI(Heu Sratusel GEHTenmioig <L &id.

HI srefless yeblufie oyam@ ppepeugih oCr nnHflwms Q@oOmod QLsdne Gh b, areading

gmreoth GeumiuBeushiE & mTam DRt = mor e fiﬁ,rreﬁngajgj (LD
(A)  Low Gib (B) Il wd {Hid
W LI inl fhub My T wbhmis I wl G

Choose the correct answer

Reason for 70% of coral reefs killed in Lakshadweep and Andaman islands.

‘@ Cilobal warming : Acid rain

Ozone layer depletion (D) Smog
sflwmen cllan wnd CarbEa@asaybd
Bl _65 Sey wmm
(A)  zas Geuliuownonse (B) =l menip

(C)  glamen bdE §iifia (D)  méal yms
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120.

121,

122.

Which one of the [ollowing 1s not permanent member of security council?
(A U.SA. A India
(C) France (O UK,

&EGup Ganésnul farareneusatics erm gadlu mrsd wuule Bossr emly sri . cima?
(A)  oGwhssT B @nd i
{C) Aymenev (D)  @rdonbg

Who was the Pioneer of Ballad 1in Tamil?

(A) Ottakuthar (B) Irattai Pulavar

(C) Kalamega Pulavar 'GB’)’ Pugazenthi Pulavar
SNPGRS LITL a6 (Lpat(Sannmig I s S(5EHEHSHG T Wit

{A) @l dmasn B)  @olan Cigmanr

(C)  arerGusiigmenr (D) sComdin i jeeur

Match the following in correct answer :

(a) 07 1.  Periya Puranam
(b) 10 2. Kalampagam
(c) 18 3. )14

(d) 63 4, Pillai1 Tamil

(a) {b) () (D

) 3 4 2 1
(B) 1 9 3 4
(C) 4 ] 2 3
D) ) 3 4 1

Ul qused Tren ulquied -2 e Qummadl. §Cip Qeriasiul Gerer @iiuHamas Qauen(y aflumes
afilen e 18 Cnas0 55

o g I uquien 11
(a® 07 1. Quiilwiyrasrio
) 10 2. sebUsD
(c) 18 3. o_qum
(d) 63 4. Adremargsmiip

(a) (b) () (d)

(A) 3 4 9 I
(B) 1 2 3 4
(C) 4 i 9 3
(D) % 3 4 ]
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123. Which of the following statement is not correct?

(A)
(B)
(C)
(D)

Metals are malleable and ductile

Metals are good conductors of heat and electricity

Metals are non-sonorous

Metals are hard with high melting points

Sipésmamib smbnsate orgl Fflwren s Hm e ?

(A)
(B)

P

(D)

2 ConshsameT SELNGED, SInseDd wrhn Gugibd

2 Gerarigea Slnhg sl giwmsel, Geulngs gdunseyb Gewuau @ dammen

o Geaonaiman gl ghudsaisldma

o Caramasr diyaronarane Gaib oifla o (mEHana 2 et wenm

124. Match the following correctly :

(a)
(b)
()
(d)
{e)

Column A

Chloroplast
Chromoplast
Leucoplast

Lysosome

Chromatin reticulum

(a) (b) (c)

Py 3 1 2
(B) 3 2 5
(@ 3 5 |
() 5 1 3
Aunpss s :

Ul ey |
(@) @CormGymSermav
(b)  @CrnGomilenman
(c)  eblugsGamanneni’.
(d) eneCerCsmp
(©)  @ConCGil1gen cuana
(a) (b) (c)

) 3 4 2
(B) 3 2 5
(C) 3 5 1
(D) 5 1 3

1.
2.
3
4.
5.
(d) (e)
5 1
1 4
2 4
4 2
1.
2.
3.
4,
5.
(d) (e)
5 1
1 4
2 4
4 2
38

Column B

Nucleus
Tubers

Leaves
Flowers, fruits
Suicidal bags

Ul gwe 11
2 L &(fh
Alipriig
Glenav
e, Serll

FHQErame oL




125. The life span of human thrombocyte is ———— - days/weeks.

(A) 5 -—9days (BY 2-3weeks

(C) 5-9weeks (D) 2-3days

wafls @rés GGem_Gan” Haefler suTppier smeao TBITL_ GG/ GUITT B S &,
A) 9 — 9 mrsen (B  2-3 euaghumet

(C) 5 -9 aungrvsen (D) 2-3mrled

126. Consider the following statements :

(a)  During respiration, oxygen 1s taken in and carbondioxide is given out.

(h)y  All the organisms are aercbes.

Of these
,(ﬁ') (a) alone 18 correct (B) (b) aloneis correct
(C)  both arc correct (D)« both are wrong

S pdsamL cunbdLbseneT &oue)

(a)  seundlgacilen Gung) <2 Sendlencel (N &516 GamaremiuiZ (i, SIS ENL . H,SEnen (B
Geuafllu@ iu@Ama:.

(b)  memaiday 2 ullilsEnd Srnm seurflaer.

G
(A) () wlpn ofl (B) (b) olhw ed
(C) @ mein (5o &M (D) @rear®Co seumy

127. Biological control of mosquito larvae can be done by

/ﬂ{ Compusea and lepister fishes (B) Earthworm
{C)y  Snails (D) Tilapia

Qarssseilean arreurdsamers s HUBES Lwau@ssliu b o ulfladr —

(Ay s Slun womn el Berser (B) e
(C) naosser (D) wCGeliwr Senr
v 39 VENI
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128. Match List T and II correctly and select your answer using the codes given below.

List I (Country) List IT (Parliament)
{(a) England 1.  Federal Assembly
(b) America 2. Pariiament
(¢) dJapan 3. Congress
(d) Switzerland - 4. Diet
Codes :

(a) (b) (c) (d)

(A) 4 2 &) 1
/BS 2 3 4 1
(©) 2 3 1 4
(D) 4 9 1 3
ulgwed T-g uiigwe [T-2 6 Qummad) ECp AaEn@ssi i haer gill(semerd Camamh 58

ellanL_enuis Carbble(:

L igwiay T (mn{Ramer) viCaguaed I (L n@mioenmn)

(a) @ridlanbg 1. Quigd sbsobeah
(b)  =Cofigsr 2. L@ D
(¢} gmuumren 3. smadlgey
(d)  sellsranbgy 4. Luwil
@O D

(a) (b) (c) (d)
(A) 4 2 3 1
(B) 2 3 4 1
(®) 2 3 1 4
(M) 4 2 1 3
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129. Match the following :

(a) Resumption of rent free tenure
(b)  General services enlistment Act
(¢) Subsidiary Treatics

() Doctrine of Lapse

(a) (b) () ()

(A) 3 4 1 2
(B) 4 1 2 3
© 1 2 3 4
0} 2 3 4 1
Qunpsas :

(a) eumaren ble GSFenas &1 (.D
(b)  Gungns uenflluen_& s Lib
() gewemriuenL & HiD

(d)  mi(B GipsEh Candans
" () (b} (©) (d)

&8 3 4 ] 2
® 4 1 2 3
© 1 2 ) 4
(D) 2 3 4 1

el

Lord Wellesley
Lord Dalheusice
Lord Bentinck

Lord Canning

QenaQevsed Siry
Lavamard] Ay
Qe iq B Gy
smefli gy

130. Mateh List I with Tast I correctly and select your answers using the codes given below :

List']
(@) dJunakhan
(b)) Kasimalik
(¢) Fareeth Khan
(d) Saleem

{a) (b) (c) (d)

(A) 2 ] 3 4
(B) 3 ] 7 4
(©) 3 2 4 1
/ﬂ) 3 4 1 2

R D S

41

Fist 11

Shersha
Jahangy
Mohammad-bin-Thuglak

Kiyasudheen

VENI
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ulged I ulgwe Thacen Qurrsd Gy Gar@astul ferer GoiluiGamens Glardr® silwmen

allepicowsd Carblls( :

(A)
(1)
(©
(D)

utig e utiguigo [T

g0 Ll mmen L Clagregn
sredloredls 2. s

ufgamen 3. pswg Y gisans
Fedib 4. Swursfen

(a) (b) (c) ()

2 1 3 4
3 1 2 4
3 p 4 1
3 4 1 2

131. Which one of the following texts shows us that “Sati” was practiced by the Aryans?

(a)
(b)
(c)
(d)
(A)
()

Rag Veda
Yajur Veda
Sama Veda

Atharva Veda

a B) b

i )D)‘ d

apfluisatli_1b o L_eralen . gmid ULPESD @) (HHSHGI cTEIUEHS GTEET (LpeD BT SimidEGomb?

(a)
(b)
(©)
(d)
(A)
()

VENI

Mg Caumid

wigger Geugpid

g Geugld

S sauan (Geugn

a (B) b
¢ (D) d



133.

134,

. ldentify the place where coral reefs are found in Tamilnadu

(AY  Gulfl of Kutch (B) Gulfof Mannar
() Lakshdewecp (Dy Nicobar island

SUNPHITL 19 60 LEUSTILITENMSET &Teor (b @l ib

(A)  sl&euenangn A)( LOGTTEITIT GUER e (&7

(C)  Blalesg Geymer D) BECerurt Seyzer

“Karpukkadam Poonda Iththeivam Allathu Porputaith Theivam Yaam Kandilamaal” = Who
is referred in these lines?

Ay  Seethai (B) FKannagi
(Cy Madhavi (DY  Manimegalai
“apussib e @stlsiland e Qurpyemls Celabwimh samrigownrd’ - Ehg euflset

F_{Deug) wirepy?

A) Fas /(‘g) FeTasrd)
(C)  wngell (D} wenlGlosama

Vezham, Pidi, Vengail, ey’ —

Choose the correet cquivalent parallel meanings of these nouns,
(A) © Singam, Yaanai, Puli, Vecsuthal
(B)  Yaanai, Kaipatruthal, Pull, Adaithal
/© Yaanat, Penyvaanai, uli, Mullam Pantri
(D) Vetn, Yaanail, Puli, Peruthal

“Cauptd, Gy, Geurians, a1t —

@UEAuwrs denhaersE Meaarune Qurmasaners gl Hanig,
(A) s, wraner, Yo, efase

(B)  wrerar. ensliupma, Ljedl, ient 56

(C)  wrenan, Guamurenen, 1160, apenarbuel

(D) Qeupll, wrenan, e, Gums

43 VENI
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135, Genetic Engineering 1s employed in the production of

I Hormones
.  Enzymes
I1I. Interferon

IV. Monoclonal antibodies

(A)  Iand Il are correct, (B) Il and I1l ave correct

(Cy I, H and IV are correct (D L IL I and TV are correct

w0 Qurhludlwed Cawdan b Adwsmeistaibenn o fugd Qalw wwenuhang

I eI GmageT
IT.  Gmrdlaen
11l

g~y OB o
Bt e alal LI

V. CurtenngCarmaned opemi o img Se

(A Twdonn H af (B) "IT wnmads 11T &4

(C) I, H whmih IV gf y I 1L TH wipmin 1V afl

136. The percentage of Gold 1n 24d—carat gold 1s

(A)  75% \JE(LIOO%

()  91.6% D) 50%
24 Cayt siuasdle o drer shuggfar saafnb

(A TH%n (B) 100%

(C) 91.6% I 50%

VENI 44



137. Match the List I with List TI and select the correct answer using the code given below the list

List ] List 11
{a) Venus 1. Ringed planet
(LY  Saturn 2. Red planet
(¢} Uranus 3. Spins slowly backward
(d) Mars 4. Rolling planct

(a) (h) (c) (d)

W) 3 1 1 0

(B) 3 1 2 4
(C) 1 3 2 4
(D) 2 4 1 3
vitiguied [-g udiquud e Cdn Qunmad) Gy QEFGIRLLC (Horar @ fluimenen L (R&E &fluiren
cllgn_emug Caimbls |
Lty | g ey 11
(a) Geudal 1. GUENETTWIMBIGHETL a2l Foulg 1Lt GasireT
(g sal 2. Flanhs Camer
()  wGreren 3. earmnns span Carer
(d) Qadeumi 4. o gptemib Gwrer
(a) {b) (e) (d)
(A) 3 1 1 9
(B) 3 1 2 4
() 1 3 2 4
(L) 2 4 I 3
v 45 VENI
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138. Read the following statements and choose the correct answer :

1.

(A)
(B)
(©)
(D)

The Neolithic period is followed by Chalcolithic period when Copper and Bronze came to
be used. '

The new technology of smelting metal ore 18 an important development.

1 and 2 are corvect
1 is correct and 2 Is incorrect
1 and 2 are incorrect

1 is incorrect and 2 is correct

Spslarasiu (f s.erarameaugamer Ui ggl, stlwner eflaL e Carey Glews.

1.

2.

ydw  sparesdlibe Gneg  Geby  srab  gemdwug. Qb Sgsaenwn,

2 UGWITEUURSSILLL g

L@ Gardler mlunnmen ‘ol BaEw APEPD” @(h (pEEIuL cueTIEFILITE e D@

w Linpoyn 2 sfhwiner sangy

(B)
(©)
(D)

1 ghiwiren & oo WHOHID 2 Heu e Fubms
1 pmih 2 seumten sahmiser

1 geumnen gaBn wHmn 2 sAlwngs sHo)

139. Match List I with List Il and select the correct answer using the codes given below the list.

(a)

()
(d)

List T — Rivers List Il — Water Falls
Cauvery 1.  Yenna

Sharavati 2. Sivasamudram
Mahabaleswar 3. Dhuandhar
Narmada 4.  Jog

(a) (b) () (d)

2 4 1 3
4 3 2 1
3 2 4 1
1 3 2 4
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uligwer T-g wlgquwe 1l-ocer Qumpgdl sflurer e eew Carblshss <ishHE apen o drer
@hd L auflenaliLi(Hids:

IRIRTRNT-) 1 ‘.cls,__[z'_;m:‘sh ul'_Lq_LLJG'U iI- (@WGSIEQEQ
{a) arafilf 1, LIGETENT

(b)  agrmaud 2. Heusupsdiyh
() waruGssheuyn 3. BGHST

(d) mhiwgn 4. Cgrs

(a) (b) (c)- (d)

(A) 2 4 1 3
(13) 4 3 2 |
() 3 2 4 1
(D) 1 3 2 4

140. Which one of the following is a “Pathu Pattu” Book?
(A) Pathirtru Pathu (BY" Paripadal
(C) Patina Palai (D) Purananuru
E1pausth B &EReT USEHIILTL{ B 6157

(A)  udpougs (B ufurié

mpqmuum@w (DY yomremm

141. How many varieties of flowers are mentioned in “IKurinjipattu”?

(A) 96 (B) 92
) 99 (DY 90

GMErALUT g eTdgenen cuans waiaa GHlindr ol Hdreres?

(A 96 (B) 92
y‘ 99 (DY 90
U 47 VENI
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142, Which Epic was written with the worship of nature in the beginning?
(A) Valawyapathi (B) Seevaga Cinthamani
(C) Silappathikaram (Iy Mani Megalai
Quinens eunpsCan(® Gamimd ergpstQubm sl erg?
(A)  eumemwirid) (B) Fauzdbsmoant

\m SasViudesnyn (D) wanllGuosamev

143, Where 15 ‘TPrakui’ language spoken?

(A Tamilnadu (B) Balusisthanam
{C) Rajmahal (D) Bihar

Hirman ud erenm e Soso i T Sens

(A sblpisi(y M L@y Elagiveni D
(C)  @ynguosme (D) Sanr

144. Assertion (A) : X-rays are not deflected by electric and magnetic fields.

Reason (R) : X-rays do not have charged particles.

(A)  (A)1s correct {(R) 18 wrong (B) {(A)1s wrong (R) is correct
(C)y  (A) and (R) are wrong y)‘ (A) and (R) are correct
glantiy (A) : X-gdligen e whmb &nbsl Lemgarm efewssiuBeiddame
smrenrd (R) 1 X-adrger demeynLibd ibmeey.

(A) (A sl (R) peugy B) (&) gam (R) &

A womw (R) seum (D) (A) wpmib (R) &M
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145. Match List I with List II correctly and select your answer using the codes given below :

(a)
(b)
()
(d)

W

(B)
(©)
(D)

Tast 1

Amoeba
Paramaecium
Euglena

Plasmodium

(a) (b) (€)

3 4 2
4 3 |
1 2 3
4 2 1

1.
2.
3.
4.
(d)

1

2

4

3

List 1T

spores
flagellum
pseudopodia

cilia

ulgwen T-m ulgwe [T-een Qurmapss G Aarfasiu’ Geaer ghluliRsamers Ganen{ sflunar

ehlenamug Carbllsd :
i wed |

(a)  bur

(b)  urpS&n

(€} wiseflenn

(d) YemsvCGwmguid

oL

(B)
()

L)

(a) (b) {c)

3 4 2
4 3 1
1 s 3
1 2 1

1.

2.

3.

4.

(d)

1
o
4
3

49

g I
avGLmraer
HensuSlenip
Cumadl& sravser

SaSluar

VENI
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146. Match the organs of UNO with their relative fields :

{(a) UNIFEM 1. Food and agriculture
(h) TAEA 2. Development of women
{¢) UNFPA 3. Atomic energy

(d)y FAO 4. Population

(a) (b) {c) (d)

S
S
[
[
—

(1) 3 4 2 1

() 2 1 3 4

(D) 2 1 4 3

z.6. senuilen Supsaan HlmeuenhisCen mbhiemue | hm (g Cmm e ewiinnBaemer Quimonbs| s :
-

(a) UNIFEM 1. o emey nhpd elasmulb

(by IAEA 2. Quenser wpan(Sanbmo

{c) . UNFPA 3. <DIGETY) DDA

(d)  FAOQ 4. in&adt Qurang

{a) {b) {c) (d)

(A) 2 3 4 }
(B) 3 4 2 1
(C) 2 1 3 4
(D) 2 1 4 3
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147. 'The highest inflow of Foreign Direct Investment of India (FDI) comes from

{(Ay USA (B3y UK
(Cy Singapore (D) Mauritius

OrfAwreilan eypElu Crirg (paal Sbssam aps smgdl@na daswra Quniudneg?
(A) USA (s@wflés medw prd)
(B) UK {mafiu urs)

(Cy  Amaligi

\W@wm‘?a@u_m

148. Which one of the following statement is wrong?
(A)  Great revolt took place during the period of Lord Canning
(BB) Census was taken duving the period of Lord Rippon
(C)y  Great Famine took place during the period of Lord Litton

() Tirst World War took place during the period of luord Karzon

{f@é‘;&;m’rl_m[j)@éo S@ e Fabry ers|?

(A arefity Ay eyl Seaneasia Gumibige 8 gHul gy

(BY  flluan Qg ol Abangss S e enElgmen s somsbla ] geudaiu Ly
(Cy ol e Sy s @ined ded Al 1D LIgnah g

Ma;r’r%hr Gy gy dlisnosdla (pad o s CumT ghul e 5

149, " Which one of the following is correctly matched?

(a)  Amarasimman 1. Chinese Pilgrimage
(b) Varaga Battar 2. Ayur Vedha
(cy  TDhanvanthiri 3. Dictionary
{(d) Fahivan 4. Sun, Earth
(a) (b) () (d)

{A) 4 2 3 1
(B) 3 2 1 4
©) 1 3 2 4

\9& 3 1 2 )
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Neieu(meveraummiaT erg) o flmes Qumsbe Slma?

(1)  a=mwrflibipen 1. Sevt gngjeu
(b) euprsulLf 2. 2yt Caugid
(c) seweundf 5 SIS

(d)  urdlwnrsm 4. L], @ iflwis

(a) (b) (c) (d)

(A) 4 2 3 1
(B) 3 2 1 4
(@) 1 3 2 4
(D) 3 4 2 1

150, Which one of the following is correctly matched?
1.  Lion of Punjab — Lokamanyar

2. Swadeshi Movement — A.O. Hume

3. Bharathamatha Association — Nilakanta Bramachart
4.  Home Rule Movement - W.C. Bannerjee
=] By 2

N D) 4

Sipageor_sunia erg sflwrs Gurmbmfmng?

1. ugnemSen Sriusib - Gaorsion et

2. &Gsdl Qussd - A.O. afyb

3. umpswIen sED — Basam . (Arogemd

4. gewen.: 4 @uissd — W.C. umeng]

Ay 1 B 2
)y 3 (D) 4
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151. Consider the lollowing statements :

24

H* ion concentration is 0.001 m and pH valuc 3.

H" ion concentration is 0.01 m and pH value 1.

Which one of the statements given above 1s/are wrong?

T oy

(A)
(©

Sipsser aursShwiigenar seuaseanh :

1.

2.

CuGa o der sunsdlumsetilay et anel geummens)?

(A)
(C)

(1) only
Both (1) and (2)

(D)

Neither (1) nor (2)

H' sunafubien Qadley 0.001 m erefla pI wdliy 3.
H" eweflufen abiey 0.01 m erefley pH oy 1.

(1) bl {ib
(1) whmnd (2)

152. Match the following :

(a) Mahatma Gandh

(b) Jawaharlal Nehru

(¢) Thomas Moore

(d) Dr. M. Varadharajan
(a) (b) (c)

(A) 2 3 4

(B) 3 2 1

(C) 1 2 3

y 1 i 1

AR

(a)  warHOT STH

(b)  wmevamrard Crem

(€} smaw epn

(d)  gpeneaul (1. eurgymaay
(a) (b) (c)

(A) 2 3 4

(B) 3 2 1

(©) 1 2 3

() 4 3 1

(d)

| AT =N AN

(d)

O

[

(B)
(D)

bl e

bl S

(2) 1l Gib
(1) wimbd (2)-1b @) cvensy
Utopia
A D2000
Discovery of India
My Experiments With Truth
o GmShwn
S 2000
@nahwimeSlen satr(HiSin Uy
s Gemsene
VENI
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153. What is the use of Remaote sensing satellites?
I To guide ships.
1I.  Estimation of crop yields.
II1. Used for radioc and television.

IV.  To measure clouds.

(A)Y Tand]IV are correct VCB{’ Il 1s only correct

(C) Il and IV are correct (D) 1V is only correct

Qaneney ¢ wwine) Dawpens gienem &Gametan LG oreme?
I. SUIUEET euifl HL £

Il eSeusmw 2 pugdlesus i

ML GreCur whmib Hgraaariduiidy Lwer i na

V. Cwsarisamas samsd

(A) I wpms IV el By 1 b 5 s

(@ T s IV a8 (TP (i

154. Which of the following four major emerging economies called ‘BRIC™?

(A) Braazil, Russia, Indonesia, China
\w Brazil, Russia, India, China
(C) Brazil, Rumania, India, China

(1Y Bangaladesh, Russia, India, China

ELpaaiT_ arkg Bren(E, euen(pbd Qummeragmy prpaser BRIC srenm iempssii(deamen?

(A)  GErde, peswn, @BCanGeandiun, Fanm
B)  WCrfla, pegwr, @ibdluir, Fenr
() 9CGrAe, ®Cwefwir, @Shwr, Fanr

(D) urserCuey, ragwm, @ nduwir, Fe
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155.

Antibodies collected from different organisms are used to get — - lype of

immunity.
(A)  Artificial, Aclive immunity Mf-‘xrtiﬁcial, Passive immunity
(C) Natural, Active immunity (D) Natural, Passive immunity

Qo e il bBimee  AAs5QsGHEs0LCL Gfglfru@urr@ei‘r wallsmeE  Crmig shigforsl
CuriORh @lg aealsuens sHUY (Wwenn?

(A)  Gewbamswrer, Cewudbleg Crind HUy apamn

(B)  CGlawbansmwren, whsoren Ghmd ML (penn

(C)  @umpenswnrear Qaweadla Grmy S{HLIL penn

(D)  @uimenawrar ipfEwTet Gurw HIL wpenm

5. Which one of the following vegetation is mostly found inthe plateau regions of India?

1. Hill vegetation
1. Deeiduous vegetation
[T1.  Desert vegetation

IV, Sunderbans

(A Tanly 11 only

(C) 1 only (D) Both I and II

sl S L le sdlanrs sraminin sneumb
I. 10GRGSE 4w TRIGET

I @eccowdn greugrsen

ML, uneparcuen sTaigfiger

IV, agiingfled sreuymsen

swGe Garhasiul L GerpEprfa efluna eila_emw CarbosH :

(A} T inlib (B) IT sl imir
(C) I w' (e (DY  Twpmb I
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157.

Indian Citizenship is acquired by

(A) Birth and Registration
(I3) Nationalization and incorporation of a teritory

() Only by descent

w All are correct

158.

apsu Euuflennep ereusimmy Aumemn?

(A)  Sou wopod udleym epewrs
(B) Quheaswns odnb gGaeaID o Hleoliuri Hepamalg (paions
(C)  cuam auPulér i Bid

(D) Cuwmpsadiv semanggid &G

Match Last [ with List Il correctly and select your answer using the codes given below :

List 1 List IT
(a) Thodou 1.  Jammu and Kashmir
) Dhokn 2. Bihar
(b
¢) Konkani 3. Assam
(c)
(d) Mythilt 4, Goa

(a) (b) (c) (d)

(A) 2 3 1 4

(©) 1 2 4 3

(D) 4 3 2 1
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vlgwer J-g ulgwd - d Quamasdl, G Gar@asiul (arer GOlSHamaid Canasrd ol
i".(f-‘Gé'}i_GE)ll !lcéa (Eg,.""r%.(;‘;:;i_.n :

L gueb 1 L IT
(a) GurGLn ‘ 1. @bap bomb snegpli
by Cirs 2, Same
(¢) Warmagai 3. mErbd
(d) ewdd 4. Gameur

(a) (b) ) (d)

(A) ) 3 1 4
(B 3 1 4 2
(®)] 1 2 4 3
(D) 4 3 2 ]
159. “Nerarum Kadaludutha Nelamadanthai Ezilozigum” = Which one of the following book

contain these Tamilthal Vazthu Padal?

(A) Thirukkural (83 Tholkappiyam

(C)  Panchali Sapadham (T Manon Maniyam

Birmgin s gL g (6 GBI Lo 08 A, i S Qe p@ o’ — SUOlpAETL eumpde) B B LD et ki g
(A)  Sd@ner (B)  anasminSiuin

(C)  Lmggened FugD yw.f. srTaLoaTL th

160. Which onc of the following cvents connected with 1857 revolt is correctly matehed?

1. Proclaimed as the Emperor of India during the revolt 1857 — Bahadur Shah IT
2. Kanpur was recaptured by — Commander Johnson
3. Hanged on charges of Rebelhion — Rani Lakshmi Bai
4. Onec of the lieutenants of Begums of Qudh — Tantia Tope
7 By 2
) 3 (D) 4
v 57 VENI
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1857 sesb WarL ruiner blapemalar Hpssanm _eubildy eray eflwima’ Comm b o dlmeg?

1. 1857 seagdlen Cung @nswnellen @L;UI]’&UHEB <R SHELI_LITT — @ITERTLID LSSHT agm
2. smeiLyeny BemHid enslbilenTi — 196 ig ey sanudl saneie e

3. flenrdfluieo mHLL L FDars gnddadlu Lot — @rrent) soladl Limd

4. oCursd Gusbseaier UanL & somwalrselle qmeur — srhdwnr CanCu

A 1 (B) 2

(C)y 3 oy 4

161. Which one of the following pair 18 eorrectly matched?

I Saranath

Buddha’s birth place

II.  Lumbini - Buddha got enlightenment
11T, Bodh Gaya . First Sermon

IV, Kusi Nagar - - Buddha's death place

Ay 1 (B) 1II

() 1M VQE‘P v

SpsGasn Hamul Herareunmer org) Was o fwirs Qunmbadlng ?

L emprg - uSsT DS Qb

II.  gblafl - LSS @hrand Qunhm G
I1L l_4§§;8§luﬁ - (pseo Gunsenen

V. geflpei - UsEt Qobs G

(A 1 By 11
) 111 Y
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163.

164.

Consider the following table -
Year : 2008 2009 2010 2011
Sales (crores) : 15 25 32 54

The year in which the sales registered a sharp increase over that of the preceding yvear is

(A) 2008 B) 2009
©) 2010 (D) 2011

eiu(paasi. ZOID S L_Guanemsicni &eamd GaTens,

GU(HLLD : 2008 2009 2010 2011

ailmuener (Camguiler) © 15 25 32 ha

STHS QIHLLD, ~HEHEN (phenaWl eu(fLSeosd Srligah eblhuamen 18le oflatlsy drare?

(A)y 2008 (By 2009

(C) 2010 1 2011

In an examination for every covecet answer 2marks are awarded for every wrong answer
4+ mark is reduced. If a student answer all 120 questions and secures 45 marks then the no. of
correct answered quastions is

W) 45 S a2

() 136 (D) 38

@ Gshelie @eutioun® athuren cim i Goae (R ndlCusssdr cuprusuuBfog. gaulairm
gaumran eflen & —’5 oF 1D oe @enpasiinnfng. g orameue mangg 120 aflernss@nden
Ol @ 4D 1021 0l s snem Aumdpren eredleh, flwins oilon allag cllenndaailes aramanllaamns
Ay 45 By 42
@ 6 (D) 38

Bio-chemically significant enzyvmes are derived from

(A) macraobes Mmicrobcs

(Cy nsulin (I} protemn
2 a5 M- Gauduwred ape nmudled e erenenald AR GQsHEs0LI L 57
(A CusGrreruen (3)  onmosGrrenuieu
(C) @ensailer (D) s
59 VENI
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1653. Find x In

5[0]6[84]
7181770
3 6‘.‘1 56
H x‘S 36
(A) 4 (B 7
9 (D) 3
X @e wodlln  sras

6 84l

7170

1 fyh_

S
@) 4 ) 7
(€ 9 (» 3

166. Chonse the correct order of hierarchy in the classification of atumals :
(A)  Class — genus — species = order (B) Order — species — class — genus

\y\ Class — order — genus — specles (D) Species - class — genus - order

clla iy asamer cuansn @& ID (panpuficy afluiren LigHlene HienwlienLl & (pays :
(A} @il —Flemb — Smldlant - euflens B)  auflens - Apdilemd - euiin| ~ @emb

(C) @@ 0 =euflens — Bamh - Aplnlani (1) Apidend - exgly - Hanb - cufieng

167. Right atrium of our heart receives blood from blood vessel.
(A) pulmonary vein \%’\ vena cavac
(Cy aorta {IN  pulmonary trunk
wellg Gewugdan euas g syenm ———————— @ln&s mrand epeih @ sgons Clumdlennsg.
(A)  mevyuigd Heny (B)  Qumésdenyaer
(C)  Quimisibed) (D) menyuige apadl ged
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168. Colloids play an important role in our daily life. Tdentify the colloid in which hquid is

dispersed in solid

w Curd (B} Indian ink

(Cy Milk (D) Paint

T POEIGE GTELIG) B ienpm . eumpsile) Wsa)h (psdlugmend eumifas. SPETED  asemIpLo b

i Hayen Hreud aremiu@Eng

(A) i (B)  GpSwer Grids

(C)  umen (D) Quulen

169. The largest tropical Savanna grass land are seen in

\ﬂ Australia (B} Africa
(C)  Asia () America

Wlalughs sjwuenoer_a seunes gk euafl smew i (heaig

(A) e dlCrellum B eofger

Q) ofwr (D) 2Quwfssr

170. The chairman of the union public service commission is appointed by

M The President (B) The Prime Minister
(C) The Chief Minister (DY  The Governor
v Twusellument T reumenen Bl o af neamied BwlEs u@Enrr?
(A Bywrss seaeuT (B) \Srzwo senwmésn
(C)  wsmennFen (D) auempa
S 61 VENI
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171. Which one of the following is not considered as a method of calculating National Income?

(A)  Product method (B) Income method

(Cy DBudget method (DY Expenditure method
Alemeu(meu@TesHMIET 6 & B (i) sU(HLOTaTSENSE Samadi(hb aflwuman qpenn i eramy Carkhs@esayn?
(A) 2 pusd apenm (B)  eugmoman gpenm

M aurey Gleaey Sl apenp (Ll gl apenn) (D) Csaaflom wpam

172. Match the following Indian towns with their Industrial product.

(a) Ahmedabad 1.  Tea Processing

(Y Kolkata 2, Cotton Textile Industry
{¢) Darjeeling 3. Glass Industry

(d) Firoza bad 4. Jute Industry

(a) (k) {(c) (d)

(A) 4 3 2 1
(B) 3 4 | 9
() 2 ] 3 4

2

4 1 3

VoL

Epsaam @hHu permsener @eunGon ()l Har fuyemiw HarflosGarm® Qummegs :

(a).  SAGDSMS L Cadena Lauu@issime
(b) CQardzsgr 2 LEEFneness Gsm e

{0 ™ Lmighleti 3. sewrentmig s Gamipled

(dy QCpnspmung 4. Femred Gigmbie

(a) (b) {c) (d)

(A 4 3 2 1
(B) 3 4 1 2
(C) 2 1 3 4
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173. A hemisphere and cone have equal bases and cqual height. Then their volumes be i the ratio

AN 2 (B)

1:2
(Cy 3:2 (DY 2:3

Qn eTEGaTETAp, SibUl 05 @iglussapd, @Gr swrpn QubBimodlar eubilar sen
Slereymetian alldanb :

Ay 2:1 (B) 1:2
(C) 3:2 (D) 2:3

174, Match List I and List 1I and select the correct answer using the code given below the lists:

List 1 List T1
(a) Horn silver l. MgCO4.CaCOs
(by  Argentite 2. Ag(l
(c) DBauxite 3. AgS
{d) Dolomite 4. Al:03.2H:0 ¢
Codes
(a) (b) () (d)
(A) 2 4 1 3
V) 2 3 4 1
(©) 3 2 4 1
(M 3 1 . 4

aufiicns 1 wpmib eiflena H Mwenpenp, QarBssiul L gill@samer uwaRs8 sfiwns Qursgs |

auiens | aufena 11
(a)  emmien Heeurm 1. MgCa.CaCOs
(by =rllgmeneni. 2. AgCl
(¢)  unsensl 3. AgaS
(d) Gurnevenwl 4. Al:02.2H20
@B hiser :
(a) (b) (c) (d)
(&) 2 4 1 3
(B) 2 3 4 1
(9] 3 2 4 1
(Ih 3 } 2 4
L 63 VENI
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175. Which one of the following is correctly matched?

(A)  International Atomic Energy Agency : Geneva
(B3) International Labowr Organisation : Madrid, Spain
(C)  United Nations University : Japan

(D) World Tourism Organisation : Vienna

S paamm_el Dbl era fluns Qurmbgfpa?
(A)  FiaGss amirsd) oennly  Aoaileur
(B)  zies Gamflorent ey - Guolengil, enbluule

\er\ madn mrhsallen LOSMOESDED | DLITE

(D) 2ansnmeor waniny - afiusoern

176. Energy is stored as which molecule in mitochondria su that it is known as ‘Energy Currency’ of
the ceil

L. Glucose

[I. Proteins

1 ATP
IV. ADP.
(&) Landdi V{. Only 111
{Cy  Only TV (I T1II and IV

S MDEy, Gleneu(nih ehS ppsvdamn eugelid ennl CLraramilumeildy CawlssLuBfpg. Gig Geddian
SLDmer BramTiLd eTaniiuBHmg,.

I &enaGaman

I urso

1. ATP

IV. ADP

(A) T wpmn Il & By Il wlGiosd
(C)y IV ol b el (1) I wimb TV el
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177. Which one of the following districts where natural gas is available in Tamil Nadu?
(A) Trichy (By Salem

(C) Dharmapuri (D) Tanjore

SODHTL 6 eThS oreut L8l ubens arflenry) Hap &g ?

(A Smsh (B) Goard

(C)  srwoyd Mg@&ﬂgbfr

178. Island's of Pacific Ocean 1s called as “Ring of Fire” because —
Consider the statements
I Volecanic island’s are in large numbers.

II.  Majority of volcanoes are active,

Select the correct answer using the given codes :
{A) Tonly (B) [ only

yBoth TandII (D) Nerther I nor 1

el & Qumris elld o dren Sey sl L misenen “GRmuy suenemund’ eran Mmenp&RCnmd erllenadle
L aflwamoseperen a)sa L kst grmamons 2 Gieng).

II.  Qugburerer stiwanwasdt GewaLRin erflwanawsanT @,

Qarpasin _Herar @Mui_eL LweruBsh sfluna ellanceanwus Camba :

(A) Tl (B) Hwliw
(€ lTwpmw Il Dy T @oamotueamnrd IT
L G5
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179. The Consumer Protection Act 1986 — covers

(A) Goods and services relating to private sector only

(B) Goods and services relating to public sector only

(C) Goods and services relating to private public and cooperative sector
(D) Goods and services relating to Government only

mETGeunn urgisTULE §LWD 1986, agparang?
(A)  seNwnt giean ermbs Qurgser wHnID Caemeu QEmfrumen g,
(B)  <ejss seom gning Qummer womb Geaney Qg m_Turers

\M’ 278, saflurm LHmW s He] genm sTihg Gurmer wHmw Caemen g _Tumerg
(D) sigartis Quogser wpmb CoameubsTeans

180. Match List [ with List 11 :

Tast [ - States Tist 11 — Number of State Assembly Seats
(a) Andhra Pradesh 1. 140
(b) Karnataka 2. 234
{¢}y Tamil Nadu 3. 224
(d) Kerala 4, 294
(a) (b) (¢} (d)
V! 3 2 1
(B) 2 3 4 1
(C) 4 3 1 2
(D) 1 3 4 2
Uigwe I uigwe I dunmass -
witgwer I — wrfles oips uligied 11 — wrble @eneanier 2 gt aaman sens
(@) sy GrGaey 1. 140
(by asiprLen 2. 234
(¢  sblipsI®H 3 224
(d) Cayemn 4 294

(a) (b) (© (d)

(A) 4 3 9 1
(B) 2 3 4 1
(©) 4 3 1 2
(D) 1 3 4 2
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181.

/ m

182.

Match the following :

(a) Agro based industry 1.  Iron and Steel industry

o

(b) Farest based industry Television

{c) Mineral based industry Bk Paper industry

(d) Electronic industry 4, Cotton textile industry
(a) (b} (©) (d)
4 3 1 2

(B) 4 2 1 3

(C) 1 3 4 2

(D} 1 4 3 2

Qumrms s :

(a) Geuennady #Tihg Ggmde 1. @mby. & Genginerane

(b)  euend sdverg s sTihs GEmdlay 2 Qgreneasr S

() saflo euend anihs Gamfle 3. srdlg.seme

(d) Aealluic dgmgfla 4 LSS Spene

(a) (b) (c) (d)

(A) 4 3 1 3
(B) 4 2 1 3
(©) 1 3 4 2
) 1 4 3 2

Which one of the following articles prohibits the employment of children below the age of 14 in
any factory or mine?

W) Article 23 (B) Article 24
(C) Article 21 A (D) Article 64

Spssar_eupmen ahs sirfluaaniy sidubianiyg 14 euwgise o ul L Hyaitseer Qemflherme
wHmb &g Geumeaseila swidgeug e Qanwinl_Gearang

A) 98 23 B) o) 24
€) «9H21A D) 94 64
67 VENI
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183. Match List 1 with List IT correctly and select your answer using the codes given below :

List I Tiast I1

(a) Pyrometer 1. Pressure of gases
(b) Lactometer 2. High temperature
(¢) Manometer 3. Intensity of light
(d) Photometer 4. Density of milk
Codes :

(a) (b) () (d)
(A) 4 3 1 9

) 2 4 1 3
© 2 4 3 1
(D) 3 4 2 1
uligusd [-m uligua -2 ar Qummpgdl &G Qerfpessul Hearer @oluihamars Garamrd sdwiran
el enwig ConEesH :
Ll gy | g o 1

(a) euCGyrBl_m 1 eumysselicl <550
(by emsGmdin 2. zaur @aulinflene
() GuGerm 5L 3. gafluben Gedley
(dy CGumiGLndina 4. Limadles 144
@O N

(a) (b) (c) (d)
(A) 4 8, . 2
(B) 2 4 1 3
() 2 4 3 1
(D) 3 4 2 1

184. The price of a commodity becomes 16 times 1n a period of 4 years. The percentage increase per

year 1s
] 100 (B) 10
) 60 (D) 20

s Quirmaflen efena 4 cum_msafie 16 vLksTdng eraflear, aumTHHr sseis 2 wWiay
(A) 100 (B) 40
(¢ 60 Dy 20
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185. Green House cffect is due to increase in
L Carbon-di-oxide
II.  Nitrous oxide
[I. Methane

IV. Sulphur-di-oxide

MI 1s correct (B) TIand]Ilcorrect

(Cy 1, IT and III correct (D) All are correct

Sleeu(meuaneupulen eTmen aFanflli9en eflenenauma servanmy. el aflenena HeoL Qumn?
I. SITITLIGH - 0L - 2y Henen (b

I anpl e sy saman(h

I, B5Cgen

IV, gour-ea-gpsaen(p

(A)  Twl @ s B) loppwn Il &0

(Cy L, 11 womwo 111 el (D) erebeunid &

186. Optical fibres arve used as medium for telecommunications. [t is made from

(A) dispersion glass (B) Nylon fibre
(Cy Thin copper wire Wlastic wire

Cgafll@up  @epser QaraaCund@elrssnm 2aTL_&1006 oA@wdlng. cuelenpaer ordledlmng
ST ESILHHDS eTemmmen

(A Sepyssiiul L s e (B) eporer Qapsdr
(€ Quaedhu srdly snd (DY darrevigs Glenysar
v 69 VENI
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187. Match Column A with Column B.
Column A Column B
(a) Formicacid 1 Vinegar
(b} Acetic acid 2 Butter
(¢} Lactic acid 3. Redant
(d) Butyric acid 4 Mtk

(a) (b) (©) (d)

(A) 3 4 1 2

3 1 4 2
(C) 2 8 4 1
) 4 3 1 2

Feold ‘& Wemeupeuaneum ienan Filwins s ‘ot 'ayi6n Qurmssis.

sab " FeoLd ‘@
{(a) wrmflE onbleown 1. el et
(b))  =filgs bled 2. QeucnQenmia
{c) enégsd siflaid 3. Fleu Ly ey
(d) Guwufs subeon 4.0 Lirey

(a) (b) (c) (d)

(A) 3 4 1 2
(B) 3 1 4 P
() 2 3 4 1
(D) 4 2 1 2

188. Match List I and II correctly and select your answer using the codes given below :
List I List [1

(a)  De-Brogile 1.  E=mc?
(b) Heisenberg 2. Atomic theory
(¢) Einstein 3. Wave nature of particles
(d) Dalton 4. AH.APzi
4

(a) (b) (c) (d)

@ 2 3 1 4
B 2 1 3 4
\yf) 3 4 ] 2
(D) 3 4 2 1
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189.

190.

Qummsgia : euans 1 wHmb 2 sMwng Gbluy cramsamer LwuaL @b GuTmEss.

susna 1 USRI 2
(a) 1g-QgrsGar 1. E = m¢?
by Gapwese Quis 2, Slem ECETETEn S
(¢)  spenaviecn 3. gseflan sienaueiy
(d) mévem q AHAP 2 e

47

(a) (b) (c) (d)

(A) 2 3 1 4
(B) 2 1 3 4
(C) 3 4 1 2
(D) 3 4 2 1

Which of the following is incorrectly matched?

(A) Rusting — Ferrous ion to ferric jon

(B) Decarboxylation — Removal of acad group
Combustion — Addition of hydrogen

()} Fermentation -~ Glucese to ethanol

Hemeumeuemeudbley QuTmbaTHS THI?

(A smmUlgssa - Quiyey swefl Qs oweflurs bryga
(B) sriunsda Beaelamen - wiblews CamEdeaw Ga@s

(C)  erflzed — enamifmenans Ganmgge

(D) Qnndlégss ~ @@HHCHTE 6THFETTE 48 DTHSHE

Inflation denotes the following situation

ﬂ Price level rises — money value falls

(B) Price level rises — money value rises
(Cy  Price level falls — money value falls

(D) Price level falls — money value rises

Lenel e SpaaeiL. Bevaenuid @blaeh

(A)  dhienveund] o wreyd — Lemgdian whly eSipadiun
(B)  elflanaveund) 2 wirrayd — LerTSEles WL 2 e

(C)  eflenaveund aiipgdluyb — uanrgdlen ALY efpsduyin-
(D) efenweurdl elipsdlud - uawgdlen indiing 2 wirayb

71
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19]1. Which metal will melt on palm of the hand?

V(Ki Mercury (B) Gold

(C) Gallium (D)  Silver

2 aTeTRI&SLRR meus@GLGLITE 2 (hE&dw gL 2 Carsd ag?
(A)  ungrswn (B) asmsb
() sredluid (D) Qeucredl

192. Which one of the following rocks belongs to Sedimentary Rock?

(A) Basalt

‘ﬁ Limestone

(C) Marble

(D) Slate

GarRasuul(perer Limennseticy, Ui sgUUmsnT cueSGenld FTimHs LTenm aTg? |
(A)  Lamesn

(B)  as@newrmbyl uram

(Cy  uelldi@s unonp

(D)  HACe_

193" In the adjoining figure the arcs BD, have 4 and C as centres. Find the area of shaded portions.

C— B
i!/:, g f
14 I’fl’ f’f.l
; s
pE——= Y
(A) 82 (B) 72
(C) 42 \}D-)\ 84
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Qar@asiulBHerer L sHa sulL eNeger BD-Sér enowsdr A wpmw C ereie, BhipediL ugdullern

LU STERTS.

(A) 82 B 72
€y 42 (D) 84

194. Consider the following statements :

Assertion (A) : There are more female terracotta figurines than those of male in Indus Valley

Civilization.

Reason (R) : Women enjoyed a superior position in the Harappan age.

(A) Both (A) and (R) are true and (R) 15 the correct explanation for (A)

(B) Both {A) and (R) are true and (R) is not the correct explanation for (A)

\yn (A) is true, (R) is false

(D) (A) 1s false, (R) 1s true

SDSEI_ QUNES LIBIH 68 selet |
aamm (A) . Sibg) soleuell prafs sl unemsefld opar o meugens eflL CQuear o (Heums
DS EDTE DO S ETETET.

smyemd (R) 0 enpiun sresdldo Quarset Guobun_L Hlevaudle GmbseT.

A (A) wpmib (R) Gran(n afl. Gogib (R) srenig (A)-efih@ sfuinen eflanésibd
B) (A whmd (R) @ram@in =M. Cogud (R) wrénug) (A)-efln, «fiunes eflardasiodha
©) ) afl (R) seum

@) (A) goug. (R) &l

v ‘ 73 VENI
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195. Match List I and List IT correctly and select your answer using the codes given below :

List I
(a) Bauxite
(b} Galena
{(¢) Pitch Blende
(d) Rutile
Codes :
(a) (b) (©)
“A) 3 4 2
\9”1 3 4 1
(C) 4 3 1
(D) 2 1 4

(d)

j v

List 11

Uranium '
Titanium
Aluminium: .

Lead | k

uiligue I ulgwe o e Qurpsd £Cp Qen@ssin_Gerer Ghluihsmens Carar® sflwmen

eemLanw Garpbs(

L g uwie |
(a) unGemar
(b)  seSen
(@) . 19_& Qaraior
(d)  emepLe
EISHEGT

(2 (b) (c)
(A) 3 4 2
(B) 3 4 1
(9] 4 5] 1
(D) 2 1 4

VENI
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(a) Service to Poor is service to God 1. Sri Narayana Guru

(b)  Suddhi Movement

-{c)  dJeeva Karunya

&0 1o

(d) Dharma Paribalana Yogam
(a) (b) (c) (d)

Ramalinga Vallalar
Vivekanandar

Swami Dhayananda Saraswathi

196. Match List T with List I correctly and select your answer using the codes given below :

ulquied - uligwa I o cer Qurmsd ECp QanhssiuBeaar gHluhsemeas Qonar® sfuner

(A) 2 3 1 4

(B) 2 4 1 3

(© 3 4 2 1

(D) 3 2 1 4

ellenLapng Camis(h :

(a) wsser DaranCL wCasaen Qgmem (h 1. ulsromuest g

(b)  ssd Qussnd 2 G Fmoedinig euareraum

(¢) Deu sm(HemLID 3. eSlCeuamanhsm

(d) smooflurawer Gursn 4. geumd surans sreveu s

(@) (b) {c) (d)
{(A) 2

[N S A e
L= R N

1
1
2
1

G0 QO D

197. Which one of the following is ¢orrectly matched?

1. Atmiya Sabha - Olcott

2. Young Bengal Movement — Raja Ram Mohan Roy
3. Nirankari Movement — Henry Vivian Derozio

4. Ghader Party — Lala Har Dyal

(A) 1 B 2

Gy 3 (D) 4

Sip&sam_sunled ag sflwne Qunmbsidlng ?
1. sl Feni - aosm

2. @lemd sumgner @u1SED — GgmeyrrTn Gumsemymi

3. Arisrf Quesd — Ganenid efefwen QL Grram

4. &nan &5 — eomem emigule

(A) 1 By 2

() 3 A 4
75
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198. Who has written the Drama “Thanneer Thanneer'?

(A)
(B)
(©)

(D)

Komal Swaminathan
Bala Chandar

Anna Durai

Pammal Sambantha Mudhaliyar

‘GETem T Hemet T GTEND BTl & mnedles < Hwm win?

Y4

(©)

Garoed efrruS];r;rrg@bT

< GUUT G 1T 61

(B)

(D)

ITEOES I EN

UIDLDG FDUHS (LpHESIWImT

199. Match List I with List 1I correctly and select vour answer using the codes given below:

(a)
{b)
(c)

(d)

v

(B}
(C)

(D)

VENI

Tast I

Veerama munivar
Kalduvel

G.U. Pope

Seegan Palku lyer

(a) (b) (©
2 3 4
1 3 4
3 4 1
2 4 3

1.
2.
3.
4.
(d)

1

2

2

1

76

List T1
Achupani
Safhuragarathi
Oppilakkanam

Translation of Tirukkural




g - vigwe T2 ar Qummad). ECp Ger@ésiu_(Gearar @duihsmars Ganar( sfwurer

aleni_enwid Can s (-
ulgwss I utgwey J1
(a) elporapaieur 1. =aluent
(b)y asra{6euw 2. FHITSNTS
© el.uy,. Gms 3. g@lLlwssen
(d)  Fsmen Lnéos gouim 4. 51@&(596%1 GomBlehrdy

(a) (b) (c) (d)

(A) 2 3 4 el
B) ! 3 4 2
(©) 3 4 1 2

(D) 2 4 3 1

. Where in Tamilnadu, a bench of the Madras High Court is situated?

{AY Chennai (3 Coimbatore

(C) " Trichy \_MMadurai

SIpBILIg., Heenanan o Wil weansden feanem erriiE enowICLHoETeTg?

(A)  Qodnenen (B) Garwbybgm
(C)  Fmah ' (D) DFIET
77
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SPACE FOR ROUGH WORK




